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Direction (1-4): Study the following information carefully and answer the questions given below it.

A word and number arrangement machine when given an input line of words and numbers rearranges them in a
following a particular rule in each step by step. The following is the illustration of input and rearrangement.

- - - S — P\
Input : 45 97 bﬁcégis maTer_2_3tab58_85h£ps ﬁon &)e&k Cozrés - \3 \ ‘
Step 1:Eards E{IS 97 manner 23 tabs 88 shops \?on ﬂ\ ‘n\;»e,“loh | Tocveoy J
Step 2: cards 19 maaner 2345 97 tabs 88 shops won P 1 AW & .
_d ""E' - ) osdep Mowey .3 Ag((sxhj
Step 3: cards 19 manner 23‘5 hops 45 97 tabs 88 won S“\ "“C
4: cards 19 manner 23 shops 45 tabs 8897 won K

\

Step 5: cards 19 manner 23 shops 45 tabs on ?_7_] J’ =S gg/
= d

Here the step 5 is the final rearrangement of the input series. wo 8:7
As per the rules followed in the given steps find appropriate steps for given input below:

Input: 72 goat 93 hot apple 19 81 41 truth yours




1. What is the sum of first number from left and first number from right of step 3?

A.100 -
B.112
C.114
D.113

E. None of these

2. Which of the following element is third to the right of 41 in step 3?

e — ————

A.93 ’T

B. yours

C.72

D. truth

E. None of these



3. Which element is exactly between 81 and 19 in step 4?

—
————

A. goat ‘\\
B. 41

C. hot

D. 72

E. None of these

4. Which step would be the following output?

‘apple 19 goat 41 hot 72 truth 81 yours 93’
A.step 5
B. step 6
C.step 7
D. step 4

E. None of these



Input: 72 goat 93 hot apple 19 81 41 truth yours 4—9[)9‘( Lousts C’;"‘_‘_’"—-;:'a
E‘Eep 1: %pplei9‘72 goat 93 hot 81 41 truth yours . G‘N" ‘ ‘ S
Step 2: apple 1q&33t 4172 93 hot 81 truth yours | HO-‘-— a9
Step 3: apple 19 goat 41.@3 81 truth yours : })_
= T Fedn W 8
Step 4: apple 19 goat 41 hot 72@ruth~83 93 yours )

. v
Step 5: apple 19 goat 41 hot 72 truth 81|yours 93 {/ V“”‘S 8_5

——Y
Logic: Words are arranged in alphabetical order from left end and the numbers are arranged in ascending order left end.



Direction (5-8): Study the following information carefully and answer the questions given below it.

A word and number arrangement machine when given an input line of words and numbers rearranges them in a
following a particular rule in each step by step. The following is the illustration of input and rearrangement. DeeCxeasin

g

Eput:48 table 17 kite 52 mango 13 wear 88 zebra

Step 3: kltg‘g@ table 481 17 52 mango 13 wear zebra

Step 4: kite 88 table@48 17 m m3 wear zebra

ngo 13 wear

&) b
|Pl')<-\’>¢;1(n.) WD L_?_J: ’-gé“?—g y

g‘_‘&ﬁe 88 table 52 zebra 48/mAngo] 13'] ,,&[dj.‘ HS: @@

ere the step 7 is the final rearrangement of the input series. /L__?/N-- y

LN O&M

s for given input below:
$ Glock (PYe Sur)

2" (o

As per the rules followed in the given steps find appropriate ste

Input: 72 user 93 many cable 19 8141 trust strong



5.

Which element is exactly between 81 and 19 in step 5?

A. Cable

B.

C

48

. Mumbai

D. 72

E.

m O O ® > O

Many

How many steps are required to get the final output?
.5
6
7
.4

None of these



7.
A.
B.
C.
D.
E.

8.
A.

B

C.

D

E.

What is the sum of first number from left and first number from right of step 3?
134
148
174
113

None of these

Which of the following element is second to the left of 41 in step 6?
93

. wear

72

. trust

None of these



Input: 72 user 93 many cable 19 81 41 trust strong [

Step 1: Cable 72 user 93 many 19 81 41 trust strong _ S{.q,s
Step 2: cable 93 72 user many 19 81 41 trust strong - CYGA'C
Step 3: cable 93 strong 72 user many 19 81 41 trust ~ —

Step 4: cable 93 strong 81 72 user many 19 41 trust ~
Step 5: cable 93 strong 81 many 72 user 19 41 trust -
Step 6: cable 93 strong 81 many 72 user 41 19 trust—
Step 7: cable 93 strong 81 many 72 user 41 trust 197

p— —

Logic: Words are arranged in ascending order with respect to sum of the first and last letter in a word from the left end.

Numbers are arranged in descending order from the left end.



Input;!Ask\Eninsh 23 15 Train Back 19 64 Sea 74

[Step I3 JAsk(75)English 23 15 Train Back 19 64 Sea r-7q7‘¢‘,'f°‘"\
[Step II Sea) B5)Ask 75 English 23 15 Train Back 19 Do 0@
Gtep I1l: Back_24 Sea 65 Ask 75 English 15 Train 19 _—
@tep IV: Train 20 Back 24 Sea 65 Ask 75 English 15
(Step V: English 16 Train 20 Back 24 (Sea 65 (Ohatsq ) N o
—> JRR0FIERY
Input: Aloo Your Cheates Dhruv 93 51 12 44 Slider 62

é\/% b ( @ Sfo o3y Desceelie 75‘_}:&}:\’7 @AWvet| |
Cla (3) N85 | Oy 95 @
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Q9. Which element is third to the right of second element from the I ftend in step n?

—

A. 94
B. Aloo ‘3

£=Cheates @ ° DP = 2+)_—' z I
D. Dhruv

E. 51

Q10. Whati at is the the sum of the digits of third highest and third Iowest number in step Il ?

A. 13
= W50 © @)
D. .10
%None of these \ 2—

@1 Which element is fifth to the right of third element from the left end in step V ?

11

Slider @ 3 ‘)’5*
52

Dhruv

None of these

moOoOw>



Input: Aloo Your Cheates Dhruv 93 51 12 44 Slider 62
Stepl: Aloo 94 Your Cheates Dhruv 51 12 44 Slider
Step2: Your 62 Aloo 94 Cheates Dhruv 51 12 44 Slider

Step3) Dhruv 43 vou@moo 94 Cheates (51 12 SIide}rj

Step4]Slider 52 Dhruv 43 Your 6 94 Cheates 1

Step5: Cheate’s-lj Slider 52 Dhruv 43 Your; 63 Aloo 94
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Input : Its 81 do 91 or 62 die (Dfor 33 all 21

EepG: Its 273 Or 243 For 124 Do 99 All 63 Die 33 =/ [-O¥ 2R =R

PET T
Input : DerivéL47 Confidenclé 71 FromilQ Hardworl%@mwa L}%SB,S
O >SGHdt —>53 - -
@D Sbeive — 63 =
= HaJumk —24

- ¥ 0w —183
= Your —7a3

@) »Wwayg —7168_J




Q12. Which is the 2" element to the right of 3" element from the left end in step 6?’_T
A. From B.51 C.147 D.Your E. Confidence

Q13. Which is the 4t element to the left of 2"d element from the right end in step 6?
A.189 B.160 C. Always D. Derive E. None of these

Q14. What is the difference between 2" highest and 29 lowest number in step 6?
A.106 B.156 C.100 D.126 E.None of these —




Input : Derlve 47 Confidence 71 From 80 Your 19 Hardwork 21 Always 63
Ste - Hare -A.F Dery/4/Conf9ence 71 From 80 Your 19 Always 63

—.—-

Steg 2 Derné 213 Hardwor 3/7’/011 Im*« 63
e - AL 4 Je : AP0 %1 0 (o) 19 63
W AWAIP’ g

a- Fdwork 63 47
. mw Derle 213 Hard 003
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